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1.  The cost of equity -
(1) Imereases ps the amount of delit inereases,
(2} Deecreases as the amouwnl of debt increases.
(3)  Minintised at the optimal capital structure.

(4} Depends on our asswnplions about bankruptey costs and Te,

2, The principle that deals with (he ideal capital strueture which should
minimize cost of financing and maximize the carnings per share i -
(1} Risk principle:
A2y Control prineiple.
{31 Cost principle.
{4)  Flexibility principle.

g, Using the CAPM 10 ealeulate the cost of capital for a risky project assumes
that :
(1) Using the Arm's beta iz the sume measure of rigk as the project.
(2)  The firm ig all-equity finaneed,
(31 The financial risk is equal to business risk.
(4)  Both (1) and (22,

4.  The term “eapital structure” velers to
1) Long-term debt, proferred stock, and common stock equity.
i2)  Currenl sssets and current liabilities,
t3)  Total assets minus labilitics.

141 Sharchelders’ equity.

9. EBIT is usually the same thing as
(11 Funds provided by operations.
121 Earnings hefore taxes.
{3} Net income,

(4} Operating profit
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6. Retained earnings are -
{1l An indication aof a company’s liguidity.
(2)  The same as cash in the bank.
(3} Not important when determining dividends.

(4} The cumulative earnings of the company afler dividends.

7.  The dividend-payout ratio is equal to -
(1) The dividend yicld plus the capital gains yield,
(2)  Dividends per share divided by earnings per share.
(3} Dividends per share divided by par value per share .
(4} Dividends per share divided by current price per share,

8  Which of the following statements best deseribes the optimal capital

structure?

(1) The optimal capital structure is the mix of debt, equity, and poferred
stock that maximizes the company's earnings per share (EPS).

(21 The optimal capital structure ig the mix ol debt, equity, and peforred
stock that maximizes the company’s stock price.

i3)  The optinal capital structure is the mix of debt, equity, and peferred
stock that minimizes the company's weighied average cost of capital
{WACC).

i4) Btatements (2) and (3) are correct.

9. Low levels of marketable securities are maintained for financing working
capital accurding to the -
(1}  Restrictive approach.
(2}  Flexihle approach.
(31 Conservative approach.
(4] Hedging approach.

10. 'The term ‘inventory” includes :
(11 Raw material + work-in-progress + finished goods.
t2)  Raw material + work-in-progress + machine spare parts.
(3} Raw material + work-in-progrese + linished goods + machine spare
parts.
(41 Raw malermal + work-in-progresz + flinished goods | machine spare
parts + lables + chairs,
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11. The msuranee paid against fire and thelt of inventerics is regarded as the
tollowing cost ©

L1 arrying cost

£

i Urderning cost
(3] Capital cost
(4} Storage cost

12. Thecredit term 5/10 net B0 signifies
(1} Credit period 10 dayvs. cash disconnt 5%, eash discount perwd 60 days.
(2)  Credit period 80 days, cash diseount 10%, cash diseount. period 5§ days.
(3)  Uredit period 60 days, eagh disrount 5%, eash discount period 10 daya.

(4)  Chredit period 5 davs, cash discount 10%, cash discount period 60 days,

13. Holding inventory 1o take advantoge of changes in prices and getting quality
tiseounts 13 regarded as -

(1) 'Trensaction motive.
(21 Speculative motive,
() Precautionary motive

(4}  Financoial motive,

14, A proposal s NO'T a Capital Budgeting Proposal if it
(1} 1s related Lo Fixed assels.
1% brings long-terin begefits.
(31 brings short-term henolits only,

(41 has very large investment,

15, A lirm with high operating leverage has -

(11 low fixed costs in ils production procesz.

(21 high variable costs in i production process.
(31 high fxed costs in ita production prcess.

141 high price per uni!
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16, One of the lollowing concepts state that revenue iy recognized when it s
realized and it is immaterial whether cash i roceived or nol.
(1) Cost
2] Realizalion
i3t Acerual

(4] Business entity

17, Ruvenue is considered as being carned on the date at which it is realized as
per the eoncept of
i1} Matehing
(2)  HRealizalion
(3 Accrual
(4} Cost

18. The revenue vecopnilion principal dictates that all types of incomes should be
recorded or recognized when

(1) Cash is received.
(2) At the end of accounting period
(31 When they are carned,

(41 When inlerest iz paid.

19. Accounting Standard 6 deals with
(1} Diselosure of accounting policies
(21 PFixed assota.
(31 Inventory valuation

(4} Depreciation.

20. Heavy advertismg to launch a new produel = 4
(11 Capital expenditure.
(20 Rovenue expendilure,
31 Deforred Revenue expenditurve,

) Semi-variable expenditure.
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The main objective of providing depreciation 1s to

i11; Caleulate true profit.
(27 To show the true financial position in the Balance Sheet.
(31 To reduce tax burden.

(4} To provide funds for replacement of fixed assets,

Gross profit + Opening stock + Purchases + Direct expenses — Sales =
(1} Closing stock

(2)  Net profit

(3) Cost of sales

(4) Wages

Unearned income aceount 18
(1) Asset

12)  Liahility

3)  Expense

(43 Liahility and expense.

Any sum which is appropriated out of profit and loss appropriation aceount
and is not meant to cover up liability, contingencey, commitment o reduction
in the value of an asset isa

(1) Provision

(2)  Bad debt

i3y Heserve

(4]  Doubtful debt

A statement or report that vecords the (luctuation in business's capital s
relerred as

111 Balance Sheet

(2] Income stalement

(3 Cash Now statement

(4 Statement of changes in equity.
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26, Under single enlry syatem, the ledper contains the {ollowing accountis)

{1} Personal
i2}  Real
3 Wominal

(4)  Personal and Neminal,

27. At the beginning of accounting year. Assets are Rs.25000 Iaabilities
Rs.5,000; Debit balance of Tncome and Expenditure Account Bs.2,500, Then
Capital Fund will be (Rs.)

(L1 32,500 '
(2) 17,500
3] 27,500
(4] 22500

28. Rent paid in Lthe accounting year Rs. 6,000; Renid paid in advance at the end
of the vear Rs.500, Rent outstanding but not yel paid for the yvear Hs. 1,000,
The amount to be debited to Income and Expenditure Account is Hs.

(1) 6.600
(2) 5500
{3) 6,000
(4r  7.000

29, A Company has sales of Re2.00.000, a contribution margin of 2000 and a
margin of =alety of Rs. 30,000, the Company’s fixed cost is Re.

(11 16,000
121 24,000
(31 80,000
vl 96,000
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30. At the break-even peint, the contribution margin eguals total
{1) Variable costs
(2] Sales revenues
(3} Selling and administrative cosls.

(4) Fixed cosls

31. The method of cost accounting that lends itsell to break-even analysis 1s
(17 Variable (Marginal) ,
(9 Standard
(3] Absolute
(4]  Absorption

32. Which of the following is an application of funds?
(1) Funds lost in operation.
(2)  Tssue of shares.
(3)  Raising long term loans,

(4)  Sale of fixed assets.

33. CGiven Net profit for the year Re2.50,000; (ransfer to General Reserves
Ks:40,000 and old machinery bought for Rs. 50,000; was sold for Rs. 20.000;
Funds from operations is Hs.

(1) 2,80,000
(2) 220,000
i3) 2,890,000
(4} 3,00,000

34, Which technique is used lor ligures of two or more periods placed side by side
to facilitate easy and meaningful comparisons?

i1} Comparative gtatement,
{2)  Common-gize statement.
i3)  T'rend analysis.
{41  Ratio analysis,
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35. The technique of taking Drsl year figures as base and comparing with the
subsequent yours 1= called
(1) Ratio analysis,
12)  Common-sizge stalcment.
{(3)  Trend Analysis,

(4)  Comparative statement,

36. Each manager has to justify his entire budget request in detail from scratch
in

(1) Activity based Costing,
(2)  Cash hudgeting.

(3] Production budgeting.
(4) Zero base budgeting,

37. A technigue of cost accounting used to determine efficiency of the operations
so that any remedial action may he taken immediately is known as
{1) Budgeting.
t2)  Marginal costing.
(3) Standard costing.

(4)  Conbracl costing.

38, Which of the following costs would decrease if production levels incressc
within the relevant range?

i1) Total Mxed costs,
(2) Variable costs per unit.
{3y  'Total variable costs.

(4} Fixed costs per unit.

39. Those coats Lhat have both [ixed and variable element are called
(1) Variable costs.
121 Total fixed costs.
i3)  Semi varahble costs.

141 Prime cost.
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40. The indicator that resulls in total revenues bein u egual to total cost 18 called
the

(1) DBrealeosson vohime
(2) Marginal cost.
(2}  Prolil mix,

(4} Marginal valyme;

41, According to Taylor's Dilferential plan, the worker is paid according to his
(1) Degree of efficiency.
(2)  Degrec of understanding,
(31 Degree of Dexibility:

(4) Depree of lovalty

42. When standard outpul is 10 units per hour and actual output is 12 units per
hour, efficicncy 1s?

(1)  B0%

{2) 100
(3) 110%
(4} 120%

43. It 18 pozeible for an item of overhead expenses to be shared amongst many
departments, It s also possible that thiz same item may relate Lo just one
speefic departinent. If the item was charged specifically to a single
department, thiz would be am example of

(1) Apportionment
{4 Allocation
i3 RHe-apportionment

4y Abwmorption rate,
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44. Whieh of the tollowimg ttems would not be elassilied as diveel malerial for an
aulomobile manufacturer?
(1) Steel
(2} Wipers
(3] Tires
(4] Serews
45. Ahs.ﬂrpt.iun casting is closely related 1o which of the following eost elements?
(11 Total costs
121 Overheads
(31 Prime costs
(47 Dircet labor
46, Which of the following Svetem applies when standavdized goods are produced
under a zeriez of inter-connected operations?
(14 Job Uhrder Costing
(2} Process Costing
(3 Standard Costing
(4)  All aof the given opLions.
47. Il the Gross Profil 15 Es.6.000 and the nel prolit 1s 26% of the Gross Prolil.
The expenses?
(1y Rs. 3,750
{2y  Rs. 1.250
{37 Rz 4,150
{4) Has. 6,250
48, Conversion cost = Direct labor plus | .
i1y Labor
{2y FxH
131 Matermal
(11 Machine cost
JL-419-COMM
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49. Which of the following is NOT included under the head of FOH cost?
(1) lndirect Material

(2} Indirect Labor
(3} Indirect Fxpense

{4) Direct labor

a0. A firm had beginning {inished goods mventory of R, 15.000; ending finished
gaods inventory of Re, 20,000 and cost of goods sold of Re.80,000. What was
the cost of zoods manulactured?

(1) Rs.80.000
(2) Rs.85,000
(3)  Rs. 75,000
4) Is.65.000

al. During costing process, to arrive at the gross profit of a trading business,
which one of the following formula is applied?

(1} Sales — {Opening Stock — Purchases — Closing Stock),

(21 Sales — (Opening Stock + Purchases + Clozing Stock ).
{3} Sales — {Opening Stock + Purchases — Closing Stock).
(4]  Sales — (Opening Stock - Purchases + Closing Stoek).

52, As a cost aceountant, caleulate the gross profit ift Sales Rs, 6000; Cost of sales
Es. 5,000, Opening stock Re. 1,000, Purchases Rs, 4,000, Wages Ra. 2,000
and Office rent Rs. 1.0007
{11 Tioss Rs.2,500
{2) Loss Rs.1,500
{31 Profit Rs.2.500
i4) Profit Rs.1.000

83. The hreak-even point can be defined az ?
(1) The level of activity at which there is neither profit nor loss.
(21 The level of activity where cash [low 15 zero.
(3} The level al activity where profits ecqual fixed costs,

(4t The level of activity where variable casts are covered hy sales revenue.
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4. A company has fixed costs of Rs.50,000 and variable costs per unit of oulpul
of Re.8. Il the gelling price is Rs. 18, what is the break-even quantity?

(1) Re.2.600
(2] Rs.5,000
{3) Rs.1.500
(4)  Rs.7,500

55. The Costing Svstem in which individual activities are identified as the cost
ohject 8 known as

(1) SBtandard Costing.
(2)  Activity Based Costing,.
(3)  Uniform Costing,

(4) Single or output Costing.

56. A labular representation of different quantitics of commaodities that
consumers are willing to purchase at specific price and time while other
|\El(:lf_] I"5 dr chnstant lH

(17 Law of Demand.
(%1 Demand Schedule.
(31 Demand Function.

4]  Demand Elastieity.

5%7. Desire to Buy, Willingness to Buy, Capacity to buy are the three conditions
necessary for

(1) Effective Demand.
(2} Elasticity of Demand.
{3 Imferior Gonds.

(41 Superior Goods,
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58. It helps in understanding the mechanism of individual markets
(1) Macro Economics
(21 Micro Economics,
(3)  Weltare Economics,

4y Industrial Beonomics.

59. Ifthe change in Quantity Demanded 1= proportionately more than the change
in Price and the total expendilure of the consumer increases, it s a case of

(1)  Tinity Elasticity
(2)  Llasticity 1s less than Unity,
(3) Elasticity is more than Unily

(4)  Demand is inelastic.

60. Implicit costs are -
{1)  equal to total fixed costs.
i2)  comprised entirely of vanable costs.
(3} “payments” [or self-emploved resourcos,

(4} always greater in the short run than in the long run.

61, The short run is 4 time period in which :
(1) All resources are fixed,
i2)  The level of output is fixed.
(31 The size of the praduction plant is variable,

(4]  Some resources are [ixed and others are variable.

62. Varable costz are
11} sunk costa,
121 multiplied by fixed costs.
3] costs that ehange with the level of produetion,

s delined as the change in total cost resulting from the production of an
additional unit of output
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63, When a firm doubles its inpuls and finds that its output has mere than
doubled, this s due to

economies of seale,
constanl returns to seale.
diseconomics of scale,

a4 violation ol Lhe law of diminishing returns.

64. Which of the following market types has all firms selling produets zo identical
that buyers do not care from which firm they buy!

(1)
(2)
(3}
14

Ferfect competition.
Oligopaly.
Muonopalistic compeLilion,

Monopoly,

G5, The law of diminising returng states that

(1)

21

as a firm uscs more of a variable resource, given the quantity of [ixed
regources, Lhe average product of the firm will increase.

Az a firm usee more of a variable resource, given the quantity of [ixed
resources, marginal product of the firm will eventually decrease.

in the short run, the average total costs of the firm will eventually
diminizh.

in the long run, the average total costs of the firm will eventually
diminish.

66, Economics and disceonomies of scale explain why the

(1} short-run average fixed eosl curve declines so long as output inereases.
(21 marginal cost curve must interseet the minimuwm point of the firm's
average lotal cost curve.
130 long-run average total cost curve s typieally U-shaped.
(43 short-run average variable cost eurve is U-shaped.
JL-419-COMM
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67. During the Communication process, which ol the following 15 most hkely to
result in lost information?

1)
2)
{3
{47

Information Processing,
Information Overload.
Information Fillering.

Effective Commuonication.

68. The two factor theory is based on the following tactors

(1)
{2)
L3
)

Hygiene and behavioural.
Safety and sell’ - esteem.
Sell - actuahisation and status quotiont.

Sell - actualisation.

69. A comprehensive theory of motivation called the performance - satizfaction
model has been advocated by

1)
(2
(3)

i)

Festinger and Heider
Jacgues and Patchen,
Porter and Lawler.

Weicl and Adams.

70. What iz the term for power derived from stalug or position inoan

organisation?

i1)
(2)
3]
1]

Helerenlt
Expert
Reward

Legitimate

71. What do vou call a style of leadership that takes account ol others™ views.
opinions and ideaz!

(11
L2}
{3)
(4)

Autocratic
Liaissez-Faire
People-oriented

Demaoeratic
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72. Father of Humnan Relations 1s
{1} William (hilbreth
(2) Henry Fayol
(3) FEW Tayvlor
(4} Elton Mayo

73, Which among these is a simulation {raining technigue?
{1) Cage study.
(2) Role playing.
(3) Casge study and Role playing.

(4) Sensitivity training.

74. An altempt iz made to create working condition similar to the actual
workshop conditivns. After training workers in such condition, the Lrained
workers may be put on similar jobs in the actual workshop. This training is
known as

(1}  On-the job training,
(2 Mentormg

13 Vestibule Lraining
(4]  Apprenliceship

75. The set of all product lines and individual products thal a firm sells 15
described as

(1) Produet Line.

{20 Product Width,

i3} Product Assortment,
i4)  Product Depth.

76. The study of the life style patterng of consumers is known as
(1) Pavchingraphies.
(2} Demographics.
(37 Behavioural Science.

(4)  Seciology,

J1.-419-COMM

https://www.freshersnow.com/previous-year-question-papers/



| 18] Booklet A

77. The no. of different product lines a company earrics is knawn as
(11 Produet Line.
(2i  Produet Width.
(d)  Product Assortment.
i4;  Product Depth.

78. By bringing buyers and sellers togelher to a single physical localion, they
promaote Lhe goods they handle and actively negotiate the sale of those goods,
Their participation i a channel is Lmired to facilitating transfer of
ownership. They are the
1) Selling agents.

(2)  Auclion companics.
(3) Commission merchanis.
(4} Brokers.

79. Management is Cost-focuged, try to attain ceonomies of scale in order to
minimise ¢ost of production. This is deseribed ay
(11 Production erientation.
(21 Product orientation.
(3)  Selling erientation.

(4)  Marketing orientation.

80. The 7 Ps Integrated Marketing Mix ig applicable to the marketing of
t1)  Industrial Goods.
i2)  Fast-Moving Consumer Goods.
(3)  Goods and Services.

i4)  Durable Consumer Goods.

81, Which Consumer Behaviour Model iz bhased on experiments done bv a
Russian peyehologist on a dog?

(1) Sigmund Freud,

t2)  Pavlovian Learning Model.
137 Marghalian Economic Model.
(41 Howard-Sheth Model,
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H4.

85.

86.
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Homogenising the heterogenous markets is the main objective af
(1) Market Targeting,

i?)  Product Positioning.
(4]  Niche Marketing.
(4) Market Segmentation.

Consumers buy the products after a (horough comparison of competing
brands. Such products are

(1) Speciality products.
(2)  Shoppmmg products.
i3 Convenience products.

(4)  Unsought products.

Two or more unrelated companies pul. their resources together to exploit an
pmerging market opportunity which 75 deseribed as

{17 Value added resellers.

(2)  Merchant wholesalers.

{1 Horizontal Marketing System.

(4)  Vertical Marketing System,

The value that occurs wilh the greatest [requency is called
i1) Mean

{2} Median

(3) Mode

(4] Index number

Sguare root of the mean of the squared deviation from the arithmetic mean
15 called

{1: Mean deviation
21 Standard deviation
(30 Coreelation

141 Regression
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87, Algebraic signs are ignored in
i1) Mean devialion,
(20 Quartile deviation.
{3} standard deviation.

{4) Blewness

88. In a positively skewed distribution, the value of Lhe mean and mode
respectively are
(1) Maximum and least.
(2} Minimum and maximiumn.
(3} Beoth maximum.

(41 Both minimum,

89, To find out co-variability or lack of it botween two attribules, we ean use
(1) Skewness
(2]  Correlation
(4]  Regression
{4}  Rank correlation.

80, Quantilication of velationship is possible in
(11 Regression
(21 Correlation
13 Rank correlation.

(4 Standard deviation.

91. Estimating lhe unknown valies of one variable from known values of
another variuble 13 possible in

111 Time series
2] Standard deviation.
131 Repression

41 Chi-aquare
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92. Relating u variable or variables in a piven poriod to the same variable ar
variables in another period 18 called

(1}  Time series.
2y Index numbers.
(3) Correlation,

i4) Regression.

93. A set of statistical observations arranged in chronological order is called
(1) Time series
(2} Index numbers
(3) Bkewncsas

(4) Quartile deviation

94, The straight line trend is represented by
(1) Xc—=a+by
(2] wve=Xa-+b
(3) Xc=ya+h
(4) ye=a+hX

95, T data is collected for each and every unit, it is ealled
(1) Mnumeration method,
{21 Census method.
(3 Coniplete survey method.

(41  Sampling.

9. 'The value obtained lrom the study of a sample 5 koown as
(1) Sampling
(2) Statistie
{37 Average

(41 Ihspersion
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9%, 1If each and cvery item of the population is having equal chance of being
included in the sample, it 15 :

{11 Swvstematic sampling.
(21 Stratified Random sampling,
31 Multi-stage sampling.

(4]  =Simple Random sampling.

98. When the population 1s heterogencous type, we use :
(L1 Steatified samplhing.
(2] bvstematic sampling.
(31 Beguenlinl sampling.

(4! Convenicnee sampling.

99. A single value obtained Lo deseribe the charaeteristies of a population is ealled
{1} Statistic
(2} Parameter
(3 Average

4y Numerical

100, Selecting one unit at random and then selecting additional units at evenly
spaced intervals is called

(1) Cluster sampling.
(2} Stratitied sampling.
131 Svstematic sampling.

41 Handom sampling,

JL.-419-COMM

https://www.freshersnow.com/previous-year-question-papers/



[23] Booklet

(s5Pace for Rough Work)

JL-419-COMM

https://www.freshersnow.com/previous-year-question-papers/




[24] Booklet

(SPace for Rough Work)

J1.-419-COMM

https://www.freshersnow.com/previous-year-question-papers/



	0001.pdf (p.1)
	0002.pdf (p.2)
	0003.pdf (p.3)
	0004.pdf (p.4)
	0005.pdf (p.5)
	0006.pdf (p.6)
	0007.pdf (p.7)
	0008.pdf (p.8)
	0009.pdf (p.9)
	0010.pdf (p.10)
	0011.pdf (p.11)
	0012.pdf (p.12)
	0013.pdf (p.13)
	0014.pdf (p.14)
	0015.pdf (p.15)
	0016.pdf (p.16)
	0017.pdf (p.17)
	0018.pdf (p.18)
	0019.pdf (p.19)
	0020.pdf (p.20)
	0021.pdf (p.21)
	0022.pdf (p.22)
	0023.pdf (p.23)
	0024.pdf (p.24)

